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* HiI—BA RuE 4.100 7. 600 11. 700
* SIFABA W= 3. 450 6. 950 10. 400
* HiI—BA EINT 3.100 7.100 10. 200
* HiI—BA =& BN 3. 400 7.100 0.300  10.200
* I FaBA X F 2.400 6. 300 8. 700
* HIZBA VFRXEA 2.400 6. 200 8. 600
HEBEHNANBER SRR 2014.02.13 03:00:00 PM
anx S B B (I EHR D 4A EA 1 == :
ST #A19 ni RE@S &
* HI—BA EINT 4.050 7.300 11. 350
* I —BA FERBIN 3. 600 6. 950 10. 550
* SIFRPA i = 3.600 6. 700 10. 300
* W ZRA VFRREA 2.900 6. 400 9. 300
* I-ABRA x| &F 2. 800 6. 400 9. 200
* HI—PA R E 2.750 6. 500 0. 600 8. 650
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* XRAE HsT—BA 8.650 12.650 12.550 12.050 11.700  48.950
* &INT HT—BA 11.350 11.800 11.800 12.250 10.200  47.200
* FEBN HT—PA 10.550 10.100 10.900 11.650 10.200  43.300
* i & SIFRBA 10.300 10.850 10.450 10.900 10.400  42.600
* X 7 I EaBA 9.200 10.000 8.000 10.550 8.700  38.450
* k3B HiT=RA 9.300 9.400 8.600 8.350 8.600  35.900
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